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CHECK YOUR UNDERSTANDING—SUGGESTED ANSWERS PAGE 350

. (@) 1.7 m/s; (b) 0.55 m/s; (¢) 0.82 m/s
. v, for the trip was 56 km/h; v, , while the car was moving was 96 km/h
. 19.1 m/s

. (@) 113 cm; (b) 113 cm/min, or 1.9 cm/s; (¢) Yes; the instantaneous speed is not changing. (Note: In some
analog clocks, the second hand “jumps” each second. A clock that shows this type of motion does not have a
constant instantaneous speed.)

. 1.7s 6. 044 s 7. 6.1x103s 8. 40x102m
. 380 km 10. 6 Min 40 s 11. 2.25 km
. (a) about 42 000 km: (b) 1.5 h

. The average speed of an object can change over time. It depends only on the distance travelled and the time
interval. The constant speed remains the same throughout the time interval.

. 65 km/h





